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' O -
REAL A{12,13), X{12) - S| AN SIS "
. DO I = J+1, H *3 SHZTh At
-3, E="RESULT.DAT ' =O=T= -
DPEN{UNIT=3, FIL ) DO K = Nel, Jo -1
WRITE(=, =} "O18 "™ Alo| S| 4= ACLL,KY = A(I,K) - {(A(I,Jd) 7 A{J,J)) = A(J,K)
READ(*, =) N t3E SHELO] gHo| W+=E 2 &HE EHDDO
o ENDDO
A HEHE S HEBE Y ES ENDDO
po I-1, N
WRITE(*, 18) I PO AF2FEHE =3
10 FORMAT(/, 1X, 13, '22| gHE =M : rAYIHE =S
DIJ(J=1, M1 | dE BEeAlED WRITE(3, 118) N, N+1
WRITE(*, 28) 1, J 118 QFORHAT( " H A2 E atr, 12, 12)
20 FORMAT(SX, "A*, 12, 1X, 12, ' = ') WRITE{3, 218) ((A(I, J), J=1, H+1), I=1, H)
READ{*,*} A(I, J}) 218 FORMAT { <H> ({<H+1>{F18.2, 2K}, ))
ENDDOD WRITE(3,*)
ENDDO
o Sre T r ACHE -l 2F o AL
!OI@! I:é}-: at_ MOIE R—IR}- = = - i —
URITE(3, 108) N, Ne1 X(H) = A(N, N+1) / A(N, N)
100 MFORMAT( S 2EFS SHE g0, 12, 12) po I = H-1, 1, -1
WRITE(3, 288) ((A{I, J), J=1, H+1), =1, N} TEMP = @
206 MFORHAT (<H> {<H+1>(F18.2, 2X},/)) DO J = I+1, H
WRITE(3,%) TEWMP = TEMP + A{I, J)} * X{J)
19| A2 S 5} 8(IY = (ACI, H+1) - TEWP)} f A{I,I)
Do J =1, N-1 EHDDO
tadd=a Q|0 arJ2b 80| Ofd HETY 1™@E S =0t ENDDO
IF¢A(J,J} -EQ. B) THEH
=1 tE£0|5t Wi E dE A
DO WHILE{A{I,J) .EQ. B) PO I =1, H
é:ﬂ‘);; WRITE(Z, 3@8) I, X(I)
DO C=1, M+1 PISHT} J3H HERD)| 280 FORHAT{1x, "X°', I2, " = ', F18.2)
THP = A(J,C) ENDDO
A{J,C) = A{I,C)
A(L,C)=THP CLOSE{3)
EHDDO EMD
ENDIF
KoM (2t4545) D X|=2F 4= ZtAMXE: 20051112 0|




& "F:\FORTRAN\MY\Debug\GAUSS exe” - |O| x| ) RESULT - 23 e 50 |
AE AN e M - IEE BIE MY 220y E8%9H
ZEg= HE a3 4
0.00 -6.00 -2.00 -8.00
0.00 -3.00 -2.00 -5.80
1.00 2.00 1.00 4.00
=2 at 3 4
1.08 2.08 1.00 4.00
0.00 -3.08 -2.80 -5.80
0.00 0.00 2._00 2._00
X1 = 1.00
X2 = 1.00
X 3 = 1.00
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